
Name: LösungsschlüsselDezimalzahlen multiplizieren

Mathe www.CommonCoreSheets.de
1-10 90 80 70 60 50 40 30 20 10 0

Antworten

Bsp. 0,0264

1. 1,52

2. 16,72

3. 1,5276

4. 7,75

5. 19,4

6. 0,063

7. 12,9

8. 0,39

9. 16,72

10. 0,38

Löse jede Aufgabe.

Bsp) After a dinner party there was 0,44 of a pot of stew leftover. If the Jannik gave 0,06 of
the leftover to Nina, how much of the original pot did he give to her?

1) A musician's hair was originally 4 centimeters long. She asked her hair dresser to cut
0,38 of it off. How many centimeters did she have cut off?

2) An industrial dishwasher takes 4,18 liters of water to wash a full load of dishes. If you
were to wash 4 full loads, how much water would you use?

3) Nina had a piece of thread exactly 2,01 yards long. After doing some sewing, she had
0,76 the original amount left. How much does she have left?

4) An old road was 3,1 miles long. After a renovation it was 2,5 times as long. How long
was the road after the renovation?

5) Nina can type 4,85 sentences per minute. If she typed for 4 minutes, how much would
she have typed?

6) On Monday Jannik picked up 0,9 of a kilogram of cans to recycle. On Tuesday he picked
up 0,07 that amount. How much did Jannik pick up on Tuesday?

7) Each day a carwash used 4,3 liters of soap. After 3 days, how much soap would they
have used?

8) On Monday it snowed 3 centimeters. The next day it snowed 0,13 that amount. How
much did it snow on the second day?

9) A jogging path was 4,4 meters. If Jannik ran around the path 3,8 times, how many meters
total did he run?

10) An old wooden post was 3,8 meters long. If you were to cut off 0,1 of it, how much
would you have cut off?
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